$\begin{tabular}{ll} \hline & Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / (MO/18) / 2018-2019 \\ By the order of Examination committee , the following is the result of BBA - FIFTH Semester held in the month of NOV-2018 \\ \hline \end{tabular}$

Date: JAN-2019

SESSI	ON: 2018-2019 CLASS:	BBA			BRA	ANCH :	MANAG	GEMENT							SEMEST	ER / TRIM	1ESTEF	₹ : F	IFTH		MONT	H OF EXAM : NOV-2018
ROLL NO	NAME	U L		5001(3)		5003(3)		5005(3)		009(3)		5011(2)		5013(3)		5007(3)			TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40505/16	RAHUL CHOUDHARY	U L	- A	24.0	- B	18.0	B -	18.0	- C	15.0	- B	12.0	B+	21.0	B+	21.0	-	-	129.0	20.0	6.45	-
BBA/40506/16	SATYAM AYUSH	U	A+	27.0	B+	21.0	A	24.0	В	18.0	A	16.0	A	24.0	B+	21.0	-		151.0	20.0	7.55	-
		L	-			24.0	-		-	- 10.0	-	- 140	-	-	-	-		-				
BBA/40507/16	LAL PRASHANT NATH SAHDEO	L	- A	24.0	- A	24.0	B+	21.0	- B	18.0	B+	14.0	- A	24.0	B+	21.0	-	-	146.0	20.0	7.30	-
BBA/40508/16	DEVANSHU TEKRIWAL	U	B+	21.0	В	18.0	В	18.0	С	15.0	С	10.0	B+	21.0	B+	21.0	-	耳	124.0	20.0	6.2	_
		L		-	-		-	-	-	-	-	-	-	-	-	-	<u> </u>	-				
BBA/40509/16	KUMAR SURYANK	U	A	24.0	A -	24.0	В	18.0	В	18.0	B+	14.0	A	24.0	B+	21.0	-	\vdash	143.0	20.0	7.15	-
DD + /40510/16		U	A+	27.0	A+	27.0	A+	27.0	A	24.0	A	16.0	A	24.0	B+	21.0	-	H	1660	20.0	0.20	
BBA/40510/16	SHARAD KUMAR MAHATA	L	-	-	-	-	-	-	-	-	-	-	-	-	-		-		166.0	20.0	8.30	-
BBA/40511/16	LAV KUMAR	U	A+	27.0	A+	27.0	A	24.0	B+	21.0	A	16.0	A	24.0	В	18.0	-	Ŀ	157.0	20.0	7.85	-
		L	-	-		-	-	-	-	-	-	-	-	-	-	-	-	-				
BBA/40512/16	ARIHANT JAIN	Ţ	A+	27.0	A -	24.0	A	24.0	В	18.0	A	16.0	A	24.0	В	18.0		H	151.0	20.0	7.55	-
		U	A+	27.0	A	24.0	A	24.0	В	18.0	A	16.0	A	24.0	B+	21.0	-					
BBA/40513/16	VARUN DEV SINHA	L	<u> </u>	-	-	-	-	-	-	-	-	-	-	-	-		-	亘	154.0	20.0	7.70	=
BBA/40514/16	SHUBHAM BATHWAL	U	A	24.0	A	24.0	A+	27.0	B+	21.0	B+	14.0	A	24.0	B+	21.0	-		155.0	20.0	7.75	-
		L	-	<u> </u>					-	-	-		-		-	-	لنا	<u> </u>				
BBA/40517/16	SIDHARTH PRASAD	U L	F*	0.0	C -	15.0	C -	15.0	F -	0.0	C -	10.0	C -	15.0	F*	0.0	-	-	55.0	20.0	2.75	F* IN : BBA5001, BBA5007
		U	A+	27.0	A	24.0	A+	27.0	Α	24.0	A	16.0	A	24.0	A	24.0	-	- 1				
BBA/40518/16	ADARSH SRIVASTAVA	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	166.0	20.0	8.30	-

: ENTREPRENEURSHIP AND SMALL BUSINESS : INTERNATIONAL TRADE & BUSINESS : RETAIL MANAGEMENT : STRATEGIC MANAGEMENT BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) BBA5011(2) E-COMMERCE BBA5013(3) HOSPITALITY MANAGEMENT PROJECT FEASIBILITY REPORT BBA5007(3)

Controller of Examinations

Disclaimer

 $\begin{tabular}{ll} \hline & Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / (MO/18) / 2018-2019 \\ By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018 \\ \hline \end{tabular}$

Date: JAN-2019

SESSION	: 2018-2019 CLASS : BE	BA]	BRANCH	: MANA	AGEMENT						SEM	ESTER / T	RIMESTE	ER : FIF	ГН		M	ONTH OF EXAM	: NOV-	2018
ROLL NO	NAME	U L	BBA	5001(3)		5003(3)		5005(3)		5009(3)		-		5013(3)		5007(3)		- -	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		╙	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40519/16	MOHUL SAHU	U	Ex	30.0	A	24.0	A+	27.0	A	24.0	B+	14.0	A+	27.0	A	24.0	-	-	170.0	20.0	8.50	-
BBA/40521/16	ANKIT KUMAR	U	A+	27.0	A	24.0	A+	27.0	A	24.0	B+	14.0	A	24.0	B+	21.0	-		161.0	20.0	8.05	_
		L	-	-	-	-	-	-	-	-	-	-	-	-		-		<u> - </u>				
BBA/40522/16	HIMANSHU KUMAR	U	A+	27.0	A+	27.0	- A	24.0	B+	21.0	- A	16.0	A+	27.0	B+	21.0	-	-	163.0	20.0	8.15	-
BBA/40525/16	RISHABH JAIN	U	B+	21.0	В	18.0	С	15.0	С	15.0	С	10.0	В	18.0	A	24.0	-		121.0	20.0	6.05	_
BB/040323/10	NOTE OF THE OF T	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	<u></u>	121.0	20.0	0.03	
BBA/40526/16	PRATIK VINAYAK	U	A	24.0	В	18.0	B+	21.0	В	18.0	В	12.0	B+	21.0	B+	21.0	-	_	135.0	20.0	6.75	-
		U	A	24.0	A	24.0	A	24.0	В	18.0	B+	14.0	A	24.0	A	24.0	-	-				
BBA/40532/16	KRISHNA MAHTO	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	152.0	20.0	7.60	-
BBA/40539/16	RISHAV NARNOLIA	U	A+	27.0	A+	27.0	A	24.0	B+	21.0	В	12.0	A	24.0	A	24.0	-		159.0	20.0	7.95	-
		L	-	-	-	-		-	-	-		-	-	-	-	-	-	1				
BBA/40540/16	AMBAR ANANT	U	A	24.0	B+	21.0	A	24.0	С	15.0	A	16.0	A	24.0	B+	21.0	-	-	145.0	20.0	7.25	-
BBA/40547/16	PRANAT PAL SINGH	U	A+	27.0	A+	27.0	B+	21.0	C	15.0	B+	14.0	A	24.0	A	24.0	-	-	152.0	20.0	7.60	
DBA/4034 //16	PRAINAT PAL SINGH	L	-	-	-	_	- 1		-	-		_	-	-	-	-	-	-	152.0	20.0	7.60	-
BBA/40549/16	ASHUTOSH PRAKASH	U	A	24.0	B+	21.0	A	24.0	В	18.0	B+	14.0	A	24.0	B+	21.0	-	-	146.0	20.0	7.30	=
	<u> </u> 	U	A	24.0	Α	24.0	A	24.0	В	18.0	B+	14.0	B+	21.0	B	18.0	H					
BBA/40556/16	ANKUR AGARWAL	L	-	-	-	-	- A	-	-	-		-	-	-	-	-	-	-	143.0	20.0	7.15	-
BBA/40558/16	PRAHARSH CHOUBEY	U	A	24.0	B+	21.0	B+	21.0	В	18.0	B+	14.0	A	24.0	B+	21.0	-	-	143.0	20.0	7.15	-

: ENTREPRENEURSHIP AND SMALL BUSINESS : INTERNATIONAL TRADE & BUSINESS : RETAIL MANAGEMENT : STRATEGIC MANAGEMENT BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) BBA5011(2) E-COMMERCE BBA5013(3) HOSPITALITY MANAGEMENT PROJECT FEASIBILITY REPORT BBA5007(3)

Controller of Examinations

Disclaimer

 $\begin{tabular}{ll} \hline & Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / (MO/18) / 2018-2019 \\ By the order of Examination committee , the following is the result of BBA - FIFTH Semester held in the month of NOV-2018 \\ \hline \end{tabular}$

Date: JAN-2019

SESSIO	N : 2018-2019 CLASS	S : BBA			BRANG	CH : MA	NAGEMI	ENT						SEMEST	TER / TRI	MESTER	: FIFT	Ή		MONTH (OF EXAM	: NOV-2018
ROLL NO	NAME	U L	BBA	5001(3)	BBA	5003(3)	BBA	5005(3)	BBA	5009(3)	BBA	5011(2)	BBA	5013(3)	BBA	5007(3)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.		,		
BBA/40559/16	PRITYUSH RAJ	U	B+	21.0	C -	15.0	B -	18.0	C -	15.0	B -	12.0	B+	21.0	B+	21.0	-	-	123.0	20.0	6.15	-
BBA/40562/16	AKASH PRABHAKAR	U	A+	27.0	A	24.0	A	24.0	A	24.0	A+	18.0	A+	27.0	B+	21.0	-	-	165.0	20.0	8.25	-
BBA/40563/16	RAJEEV KUMAR SHARMA	U	A+	27.0	A	24.0	A	24.0	В	18.0	A	16.0	A	24.0	B+	21.0	-	-	154.0	20.0	7.70	-
BBA/40564/16	KUMAR ARDIK	U	- A	24.0	- A+	27.0	- B+	21.0	- C	15.0	B+	14.0	- B+	21.0	- B+	21.0	-	-	143.0	20.0	7.15	_
		L U	- A	24.0	- B+	21.0	- B+	21.0	- C	15.0	- B+	14.0	- B+	21.0	- B+	21.0	-	-				
BBA/40569/16	ABHINAV KUMAR	L	-	-	-	-		-	-	-	-	-	-	-	-	-		-	137.0	20.0	6.85	-
BBA/40570/16	PRINCE BHARADWAJ	U L	A+ -	27.0	- A	24.0	- A	24.0	- B	18.0	- A	16.0	- A	24.0	- B	18.0	-	-	151.0	20.0	7.55	=
BBA/40571/16	ARSH ADEEB GHAZI	U	A	24.0	A	24.0	B+	21.0	В	18.0	B+	14.0	B+	21.0	B+	21.0		-	143.0	20.0	7.15	-
BBA/40572/16	VISHAL KUMAR	U	A+	27.0	A	24.0	A	24.0	A	24.0	A	16.0	A	24.0	B+	21.0	-	-	160.0	20.0	8.00	_
		L U	- D	12.0	- В	18.0	- В	18.0	- C	15.0	- C	10.0	- B+	21.0	- B+	21.0	-	-				
BBA/40573/16	DEEP ROSHAN KUMAR	L		-	_	-		-	-	-	-	-	-	-	-	-	-	-	115.0	20.0	5.75	UNFAIR MEANS
BBA/40575/16	VIBHASH	U L	B -	18.0	- B	18.0	- C	15.0	- C	15.0	- B	12.0	- B	18.0	B+	21.0	-	-	117.0	20.0	5.85	-
BBA/40576/16	SHADAB AHMAD	U L	B+	21.0	В -	18.0	B+	21.0	C -	15.0	C	10.0	B+	21.0	B -	18.0	-	-	124.0	20.0	6.2	-
BBA/40579/16	SACHIT	U	A	24.0	A	24.0	A	24.0	В	18.0	B+	14.0	A	24.0	A	24.0		-	152.0	20.0	7.60	-

: ENTREPRENEURSHIP AND SMALL BUSINESS : INTERNATIONAL TRADE & BUSINESS : RETAIL MANAGEMENT : STRATEGIC MANAGEMENT BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) BBA5011(2) E-COMMERCE BBA5013(3) HOSPITALITY MANAGEMENT PROJECT FEASIBILITY REPORT BBA5007(3)

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / (MO/18) / 2018-2019

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date : JAN-2019

SES	SSION: 2018-2019 CLASS	: E	BBA			F	BRANC	H : N	IANAG	EMENT									SEMESTER / TRIM	ESTER :	FIFTH	MONTH OF EXAM : NOV-2018
ROLL NO	NAME	U L	BBA5	5001(3)	BBA	5003(3)	BBA:	5005(3)	BBA	5009(3)	BBA	5011(2)	BBA	5013(3)	BBA	5007(3)	-		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
		Ц	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40581/16	MD SALIK NAWAZ	U	A+	27.0	A	24.0	Α	24.0	Α	24.0	Α	16.0	Α	24.0	B+	21.0	-	-	160.0	20.0	8.00	_
BB/140301/10	MID STEIR IVI WIE	L	-	-	-		-	-	-	-]	-	<u> - </u>	-	<u> - </u>	-	-	-	100.0	20.0	0.00	
DD 4/40592/16	ALOK RANJAN	U	A	24.0	B+	21.0	B+	21.0	В	18.0	B+	14.0	B+	21.0	A	24.0	-	-	143.0	20.0	7.15	<u>-</u>
BBA/40382/10	ALOK KANJAN	L	-	-	-	-	-	-	-	-	<u> </u>	-	- 1	-		-	-	_	145.0	20.0	7.13	-
DD A /40594/16	SWAPNIL SHUBHAM	U	F*	0.0	F*	0.0	D	12.0	F*	0.0	F*	0.0	F*	0.0	F*	0.0	-	-	12.0	20.0	0.6	F* IN : BBA5001, BBA5003, BBA5007, BBA5009, BBA5011, BBA5013
BBA/40384/10	SWAFNIL SHOBITAM	L	-	_	-	-	-	-	-	-	-	_	-	-	-	-	-	-	12.0	20.0	0.0	1° IN . BBA3001, BBA3003, BBA3007, BBA3011, BBA3013
DD 4 (40501/16	HARGH ANAND	U	A+	27.0	A	24.0	Α	24.0	B+	21.0	Α	16.0	Α	24.0	В	18.0	- 1	-	154.0	20.0	7.70	
DDA/40391/16	HARSH ANAND	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	134.0	20.0	7.70	-
DD 4/40502/16	CAUTAM VIMAR SINCU	U	A	24.0	A	24.0	A	24.0	B+	21.0	A	16.0	A	24.0	B+	21.0		-	154.0	20.0	7.70	
BBA/40392/16	GAUTAM KUMAR SINGH	L	- 1	-	-	<u> </u>	-	-	-	-	<u> </u>	-	-	-	-	-	-	_	134.0	20.0	7.70	-

BBA5001(3)	: ENTREPRENEURSHIP AND SMALL BUSINESS	-	:
BBA5003(3)	: INTERNATIONAL TRADE & BUSINESS	-	:
BBA5005(3)	: RETAIL MANAGEMENT	-	:
BBA5009(3)	: STRATEGIC MANAGEMENT	-	:
BBA5011(2)	: E-COMMERCE	-	:
BBA5013(3)	: HOSPITALITY MANAGEMENT	-	:
BBA5007(3)	: PROJECT FEASIBILITY REPORT	-	:
-	:	-	

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSIO	N : 2018-2019	CLASS : BBA			BRANG	CH : MA	NAGEM	ENT						SEMES	TER / TE	RIMESTER	R : FIF	ТН		MONTH OF	FEXAM	: NOV-2018
ROLL NO	NAME	U		5001(3)		5003(3)		5005(3)		5009(3)		5011(2)		5013(3)		5007(3)		1007(3)	TOTAL CREDIT	TOTAL	SGPA	REMARKS
ROLL NO	NAME	L	GR.	3001(3) PT.	GR.	1009(3) PT.	GR.	2003(3) PT.	GR.	3007(3) PT.	GR.	2005(3) PT.	GR.	3011(3) PT.	GR.	4009(3) PT.	GR.	PT.	POINTS	CREDITS	SGIA	REWARKS
BBA/40502/16	SAURAV KUMAR	U	B+	21.0	В	18.0	B+	21.0	С	15.0	В	12.0	B+	21.0	B+	21.0	D	12.0	159.0	26.0	6.12	
BBA/40302/10	SAURAV KUMAK	L	В	18.0	-	-	-	-	-	-	-	-	-	-		-			139.0	20.0	0.12	-
BBA/40516/16	AKSHAY KUMAR SINGH	U	A+	27.0	A	24.0	A	24.0	В	18.0	В	12.0	B+	21.0	В	18.0	-	-	162.0	26.0	6.23	_
BB11 103 10/10		L	-	-	-	-	В	18.0	F	0.0	-	-	-	-	-	-	-	-	102.0	20.0	0.23	
BBA/40523/16	KUMAR SUBHAM	U	A	24.0	A	24.0	A	24.0	В	18.0	B+	14.0	A	24.0	A	24.0	-	-	185.0	26.0	7.12	_
BB/1-10323/10	ROWLIN SOBILLIN	L	-	-	-	-	С	15.0	-	-	В	18.0	-	-	-	-	-	-	105.0	20.0	7.12	
BBA/40527/16	RISHABH RITURAJ	U	F*	0.0	C	15.0	A	24.0	C	15.0	В	12.0	B+	21.0	B+	21.0	-	-	135.0	26.0	5.19	F* IN : BBA5001
BBA/4032//10	KISHABII KITUKAJ	L	-	-	-	-	D	12.0	-	-	-	-	С	15.0	-	-	-	-	135.0	20.0	3.19	I IN . BBA3001
BBA/40528/16	PRANAY TOPNO	U	A	24.0	B+	21.0	B+	21.0	С	15.0	C	10.0	В	18.0	B+	21.0	-	-	160.0	26.0	6.15	_
BB/1-10320/10	ridian forms	L	-	-	-	-	-	-	-	-	D	12.0	-	-	В	18.0	-	-	100.0	20.0	0.13	
BBA/40530/16	SURAJ ORAON	U	A	24.0	B+	21.0	В	18.0	C	15.0	В	12.0	В	18.0	B+	21.0	-	-	159.0	26.0	6.12	
BBA/40330/10	SORAJ ORAGIN	L	-	-	-	-	C	15.0	-	-	-	-	-	-	-	-	С	15.0	139.0	20.0	0.12	_

BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) BBA5011(2) BBA5013(3) BBA5007(3) BBA1007(3)	: ENTREPRENEURSHIP AND SMALL BUSINESS : INTERNATIONAL TRADE & BUSINESS : RETAIL MANAGEMENT : STRATEGIC MANAGEMENT : E-COMMERCE : HOSPITALITY MANAGEMENT : PROJECT FEASIBILITY REPORT : INTRODUCTION TO BUSINESS ACCOUNTING	BBA3001(3) BBA1009(3) BBA2003(3) BBA3007(3) BBA3007(3) BBA3011(3) BBA3011(3) BBA4009(3)	: RESEARCH METHODOLOGY : FUNDAMENTALS OF COMPUTING : QUANTITATIVE TECHNIQUES IN MANAGEMENT : INTRODUCTION TO FINANCIAL MARKETS : BASICS OF FINANCIAL MANAGEMENT : PRINCIPLES OF MARKETING II : SALES AND DISTRIBUTION MANAGEMENT : BUSINESS ECONOMICS
BBA1007(3)	: INTRODUCTION TO BUSINESS ACCOUNTING	BBA1005(3)	Disclaimer Disclaimer

Controller of Examinations

Disclaimer

Reference: EXAM/JPP/BITIC/LALPUR/BBA-FIFTH/MO/18 / 2018-2019
By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSIO	N : 2018-2019 CLASS :	BBA			BRANG	CH : M.	ANAGEM	ENT						SEME	STER / T	RIMESTE	R : FIF	ТН		MONTH C	F EXAM	: NOV-2018
		U	BBA	5001(3)	BBA5	5003(3)	BBA	5005(3)	BBA	5009(3)	BBA	5011(2)	BBA	5013(3)	BBA	5007(3)	BBA2	003(3)	TOTAL CREDIT	TOTAL		
ROLL NO	NAME	L	BBA	001(3)	BBA	1003(3)	BBA	2005(3)	BBA	4003(3)	BBA	4005(3)	BBA	3001(3)	BBA	1005(3)	BBA	007(3)	POINTS	CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40503/16	PRATYUSH SINGHANIA	U	A+	27.0	B+	21.0	B+	21.0	В	18.0	В	12.0	A	24.0	B+	21.0	С	15.0	159.0	23.0	6.91	-
		L	<u> </u>	-	-	-	-	-	-	-	-	-	-	-		-	-	-				
BBA/40504/16	ANIKET RAJ	U	A	24.0	В	18.0	B+	21.0	С	15.0	С	10.0	A	24.0	B+	21.0	С	15.0	148.0	23.0	6.43	=
		L		-	-	-	-	-	-	-	-	-	-	-	-	-	-	-				
BBA/40524/16	NITIN AMAN LAKRA	U	B+	21.0	В	18.0	B+	21.0	С	15.0	В	12.0	B+	21.0	B+	21.0	D	12.0	141.0	23.0	6.13	-
		L	A+	27.0	_	24.0		24.0	В	18.0	A	16.0	A+	27.0	B+	21.0	В	18.0				
BBA/40534/16	KRISHNA MANPURIA	L	A ⁺	27.0	- A	24.0	- A	24.0	- Б	16.0	- A	10.0	Α+	27.0	Бт	21.0	- Б	16.0	175.0	23.0	7.61	-
		U	В	18.0	В	18.0	В	18.0	D	12.0	В	12.0	B+	21.0	A	24.0	-	-				
BBA/40541/16	YUVRAJ SINGH	L	С	15.0	-	-	-	<u> </u>	-	-	-	-	-	-	i -	i -	-	-	138.0	23.0	6.00	-
BBA/40542/16	BIJAY SINGH BANT	U	В	18.0	С	15.0	B+	21.0	С	15.0	В	12.0	B+	21.0	B+	21.0	D	12.0	135.0	23.0	5.87	
BBA/40342/16	BIJA I SINGH BANI	L	-	-		-	-	-	-	-	-	-	-	-	-	-	-	-	155.0	23.0	3.87	-
BBA/40543/16	SOURABH KUMAR	U	B+	21.0	A	24.0	A	24.0	С	15.0	В	12.0	A	24.0	В	18.0	С	15.0	153.0	23.0	6,65	
BBA/40343/10	SOURABII KUMAK	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	155.0	23.0	0.03	
BBA/40544/16	LOKESH RANJAN	U	A	24.0	A	24.0	A	24.0	В	18.0	B+	14.0	A	24.0	B+	21.0	D	12.0	161.0	23.0	7.00	
BBA/40344/10	EORESH KANJAN	L	-	-		-	-	-	-	-	-	-	-	-	-	-	-	-	101.0	23.0	7.00	
BBA/40545/16	KUMAR NILAY	U	A+	27.0	В	18.0	B+	21.0	С	15.0	В	12.0	B+	21.0	A	24.0	D	12.0	162.0	26.0	6.23	=
		L	-	-	-		D	12.0	-	-	-	-	-		-		-	-				
BBA/40546/16	KUNAL ROUNAK	U	A	24.0	В	18.0	B+	21.0	D	12.0	B+	14.0	В	18.0	B+	21.0	С	15.0	158.0	26.0	6.08	-
	<u> </u>	L	- D:	- 21.0	-	15.0	C	15.0	-	- 15.0	- D	12.0	- D:	- 21.0	- D:	- 21.0	-	-				
BBA/40548/16	PRATIK	L	B+	21.0	С	15.0	B+	21.0	-	15.0	B D	12.0	B+	21.0	B+	21.0	-	-	138.0	23.0	6.00	-
		U	A	24.0	B+	21.0	B+	21.0	C	15.0	B+	14.0	B+	21.0	B+	21.0	-	-				
BBA/40550/16	ASHUTOSH KUMAR SINGH	L	-	-	-	-	F	0.0	-	-	-	-	-	-	-	-	-	-	137.0	23.0	5.96	UNFAIR MEANS

BBA2003(3) : QUANTITATIVE TECHNIQUES IN MANAGEMENT BBA1007(3) INTRODUCTION TO BUSINESS ACCOUNTING	BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) BBA5011(2) BBA5013(3) BBA5007(3)	: ENTREPRENEURSHIP AND SMALL BUSINESS : INTERNATIONAL TRADE & BUSINESS : RETAIL MANAGEMENT : STRATEGIC MANAGEMENT : E-COMMERCE : HOSPITALITY MANAGEMENT : PROJECT FEASIBILITY REPORT	BBA1001(3) BBA1003(3) BBA2005(3) BBA4003(3) BBA4005(3) BBA3001(3) BBA1005(3)	GENERAL PRINCIPLES OF MANAGEMENT BUSINESS STATISTICS BASICS OF FINANCIAL MANAGEMENT MANAGEMENT AND CONTROL OF COST FUNDAMENTALS OF OPERATIONS RESEARCH RESEARCH METHODOLOGY BUSINESS ECONOMICS
	BBA2003(3)	: QUANTITATIVE TECHNIQUES IN MANAGEMENT	BBA1007(3)	INTRODUCTION TO BUSINESS ACCOUNTING

Controller of Examinations

Reference: EXAM/JPP/BITIC/LALPUR/BBA-FIFTH/MO/18 / 2018-2019
By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSIO	ON : 2018-2019	CLASS : BBA			BRANG	CH : M/	ANAGEM	ENT						SEME	STER / T	RIMESTE	R : FII	TH		MONTH C	F EXAM	: NOV-2018
BAYY N/A	N. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.	U		5001(3)		003(3)		5005(3)		5009(3)		5011(2)		5013(3)		5007(3)		2003(3)	TOTAL CREDIT	TOTAL		200
ROLL NO	NAME	L	BBA1	001(3) PT.	BBA:	003(3) PT.	GR.	2005(3) PT.	GR.	4003(3) PT.	BBA4 GR.	PT.	GR.	PT.	BBA GR.	1005(3) PT.	BBA GR.	007(3) PT.	POINTS	CREDITS	SGPA	REMARKS
		U	B+	21.0	B+	21.0	B	18.0	C.	15.0	B	12.0	B	18.0	B+	21.0	- GK.	-				
BBA/40552/16	RONIT KHALKHO	L	B+	21.0	D	12.0	-	_	-	-	-	-	-	-	<u> </u>		-	-	159.0	26.0	6.12	-
BBA/40557/16	KUSHALL MANEK	U	A	24.0	A	24.0	A	24.0	В	18.0	В	12.0	A	24.0	B+	21.0	-	-	168.0	23.0	7.30	
BBA/4033//10	RUSHALL WANEK	L	-	-		-	-		-	-	-	-	B+	21.0		-		-	108.0	23.0	7.30	-
BBA/40560/16	NIRNAY MRINAL	U	B+	21.0	B+	21.0	B+	21.0	С	15.0	В	12.0	В	18.0	B+	21.0	F	0.0	129.0	23.0	5.61	-
	1	L	-	-		-	-	-		-	-	-	-	-	-	-		-				
BBA/40561/16	BALJEET KUMAR BADAL	U	B+	21.0	В	18.0	A	24.0	С	15.0	В	12.0	B+ B	21.0	B+	21.0	<u> </u>	-	150.0	26.0	5.77	-
	1	U	В	18.0	B	18.0	A+	27.0	- C	15.0	С	10.0	В	18.0	В	18.0	<u> </u>			<u> </u>		
BBA/40566/16	DHAIRYA BANKA	L	-	-	-	-	-	-	-	-	D	12.0	-	-	-	-	 	=	136.0	23.0	5.91	-
		U	A+	27.0	A	24.0	A	24.0	В	18.0	B+	14.0	A	24.0	B+	21.0	F	0.0				
BBA/40567/16	HARSH RAY	L	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	-	152.0	23.0	6.61	-
BBA/40568/16	P. DAVESH	U	A	24.0	B+	21.0	B+	21.0	С	15.0	B+	14.0	B+	21.0	В	18.0	F	0.0	146.0	26.0	5.62	
BBA/40308/10	r. DAVESII	L	-	-	-	- 1	-	-	-	-	D	12.0	-	-	-	-	-	-	140.0	20.0	3.02	_
BBA/40574/16	SUDHANSHU SAURAV	U	A+	27.0	B+	21.0	B+	21.0	B+	21.0	B+	14.0	A	24.0	B+	21.0	-	-	164.0	29.0	5.66	UNFAIR MEANS
BB10 1037 1110	Septimente Siterativ	L	F	0.0		-	-	_	-	-	-	-	F	0.0	С	15.0	-	-	10.10	27.0	2.00	om memoria
BBA/40577/16	RISHAV BHADORIA	U	A	24.0	B+	21.0	A	24.0	В	18.0	В	12.0	B+	21.0	B+	21.0	С	15.0	156.0	23.0	6.78	-
-	1	L	- B+	21.0	- B+	21.0	B+	21.0	- C	15.0	В	12.0	B+	21.0	- В	18.0	<u> </u>	-				
BBA/40578/16	MD. AMIR ALAM	T.	- B+	21.0	D⊤ -	21.0	- B+	21.0	_	13.0	В .	12.0	- Β⊤	21.0	- Б	18.0	<u> </u>		129.0	20.0	6.45	-
	1	U	D	12.0	B+	21.0	B+	21.0	В	18.0	В	12.0	B+	21.0	B+	21.0	 	=				
BBA/40583/16	ASHUTOSH KUMAR	L	В	18.0	-	-	-	-	-	-	-	-	-	-	-	-	-	-	144.0	23.0	6.26	-
BBA/40585/16	HARSHIT SAHA	U	В	18.0	B+	21.0	В	18.0	D	12.0	С	10.0	B+	21.0	В	18.0	-	-	130.0	26.0	5.00	
DDA/40383/10	HARSHII SAHA	L	-	-	F	0.0	-	-	-	-	-	-	-	-	-	-	D	12.0	130.0	20.0	5.00	-

BBA5001(3)	: ENTREPRENEURSHIP AND SMALL BUSINESS	BBA1001(3)	: GENERAL PRINCIPLES OF MANAGEMENT
BBA5003(3)	: INTERNATIONAL TRADE & BUSINESS	BBA1003(3)	: BUSINESS STATISTICS
BBA5005(3)	: RETAIL MANAGEMENT	BBA2005(3)	: BASICS OF FINANCIAL MANAGEMENT
BBA5009(3)	: STRATEGIC MANAGEMENT	BBA4003(3)	: MANAGEMENT AND CONTROL OF COST
BBA5011(2)	: E-COMMERCE	BBA4005(3)	: FUNDAMENTALS OF OPERATIONS RESEARCH
BBA5013(3)	: HOSPITALITY MANAGEMENT	BBA3001(3)	: RESEARCH METHODOLOGY
BBA5007(3)	: PROJECT FEASIBILITY REPORT	BBA1005(3)	: BUSINESS ECONOMICS
BBA2003(3)	: QUANTITATIVE TECHNIQUES IN MANAGEMENT	BBA1007(3)	INTRODUCTION TO BUSINESS ACCOUNTING
			Disclaimer

Controller of Examinations

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSION	II : 2018-2019 CLA	ASS : BBA			BRANCH	: MAN	AGEMEN	Γ					SI	EMESTER /	TRIMES	STER : F	TFTH		MO	NTH OF EXAM	: NOV-2	2018
ROLL NO	NAME	U L		5001(3) 1001(3)		5003(3) 1003(3)		5005(3) 2005(3)		5009(3) 4003(3)		5011(2) 4005(3)		5013(3) 3001(3)		5007(3) 1005(3)	BBA20 BBA10	` '	TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
			GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
BBA/40586/16	UTKARSH BHARDWAJ	U	B+	21.0	B+	21.0	B+	21.0	C	15.0	B+	14.0	A	24.0	В	18.0	-	-	161.0	26.0	6.19	
BBA/40300/10	O RAKSH BHARDWAS	L]	-	D	12.0	С	15.0	-	-	-	-		- 1	-	-	-	-	101.0	20.0	0.19	
BBA/40587/16	PIYUSH TYAGI	U	A	24.0	B+	21.0	B+	21.0	С	15.0	В	12.0	A	24.0	В	18.0	-	-	135.0	20.0	6.75	
BBA/4038 // 10	FITOSITTAGI	L	-	-		-	-	-	-	-	-	-	-	-	-	-	-	-	133.0	20.0	0.73	_
BBA/40588/16	AAYUSH CHOURASIA	U	B+	21.0	B+	21.0	A	24.0	C	15.0	В	12.0	B+	21.0	B+	21.0	F	0.0	135.0	23.0	5.87	
BBA/40388/10	AAT USH CHOURASIA	L	-	-		-	-	-	-	-	-	-		-	-	-	-	-	133.0	23.0	3.67	_
BBA/40589/16	SAURABH JAISWAL	U	A	24.0	В	18.0	B+	21.0	C	15.0	В	12.0	В	18.0	B+	21.0	-	-	150.0	23.0	6.52	
BBA/40389/10	SAURABH JAISWAL	L	B+	21.0	- [-	-	-	-	-	-	-	-	- 1	-	-	-	-	130.0	23.0	6.32	

BBA5001(3)	: ENTREPRENEURSHIP AND SMALL BUSINESS	BBA1001(3)	: GENERAL PRINCIPLES OF MANAGEMENT
BBA5003(3)	: INTERNATIONAL TRADE & BUSINESS	BBA1003(3)	: BUSINESS STATISTICS
BBA5005(3)	: RETAIL MANAGEMENT	BBA2005(3)	: BASICS OF FINANCIAL MANAGEMENT
BBA5009(3)	: STRATEGIC MANAGEMENT	BBA4003(3)	: MANAGEMENT AND CONTROL OF COST
BBA5011(2)	: E-COMMERCE	BBA4005(3)	: FUNDAMENTALS OF OPERATIONS RESEARCH
BBA5013(3)	: HOSPITALITY MANAGEMENT	BBA3001(3)	: RESEARCH METHODOLOGY
BBA5007(3)	: PROJECT FEASIBILITY REPORT	BBA1005(3)	: BUSINESS ECONOMICS
BBA2003(3)	: QUANTITATIVE TECHNIQUES IN MANAGEMENT	BBA1007(3)	INTRODUCTION TO BUSINESS ACCOUNTING

Disclaimer

Reference: EXAM / JPP / BITIC / LALPUR / BBA-FIFTH / MO/18 / 2018-2019

By the order of Examination committee, the following is the result of BBA - FIFTH Semester held in the month of NOV-2018

Date :

SESSION: 2018-2019 CLASS: BBA BRANCH: MANAGEN					AGEMEN'	MENT SEMESTER / TRIMESTER : FIFTH MO									NTH OF EXAM : NOV-2018								
	ROLL NO	NAME	U L		5001(3) 8001(3)		5003(3) 1009(3)		5005(3) 2003(3)		5009(3) 8007(3)		5011(2) 1001(3)		5013(3) 3011(3)	BBA5	5007(3) 1009(3)	BBA10 BBA10		TOTAL CREDIT POINTS	TOTAL CREDITS	SGPA	REMARKS
				GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.	GR.	PT.				
	BBA/40515/16	RAJESH KUMAR MAHTO	U	A	24.0	B+	21.0	B+	21.0	В	18.0	В	12.0	В	18.0	В	18.0	-	-	174.0	26.0	6.69	-
			L	-	-	B+	21.0	-	-	-	-	B+	21.0	-	-	-	-	-	-		20.0		

BBA5001(3) BBA5003(3) BBA5005(3) BBA5009(3) BBA5011(2)	: ENTREPRENEURSHIP AND SMALL BUSINESS : INTERNATIONAL TRADE & BUSINESS : RETAIL MANAGEMENT : STRATEGIC MANAGEMENT : F-COMMERCE	BBA2003(3) BBA3007(3)	RESEARCH METHODOLOGY FUNDAMENTALS OF COMPUTING QUANTITATIVE TECHNIQUES IN MANAGEMENT INTRODUCTION TO FINANCIAL MARKETS GENERAL PRINCIPLES OF MANAGEMENT
BBA5013(3)	: HOSPITALITY MANAGEMENT	BBA3011(3)	: PRINCIPLES OF MARKETING II
BBA5007(3)	: PROJECT FEASIBILITY REPORT		: SALES AND DISTRIBUTION MANAGEMENT
BBA1007(3)	: INTRODUCTION TO BUSINESS ACCOUNTING		BUSINESS ECONOMICS

Disclaimer